ERLNZ / Components

No. £ / Part name $E / Pcs #ME / Material & - RELE / Color-Finish
1 IL—L 4 TILSHHH AB063S-T5 DIWIN=T WAL, TZ9IT LIk
Frame Extruded aluminium A6063S-T5 Silver , Black * Anodized
2 a—r—Jovy 4 ABS#iE UL94HB SANTL—, TI5vY
Corner block ABS UL94HB Light gray , Black
3 J—4—F+v7 / Blind plug 8 ISR / TPE FA8FL—, T35V / Light gray , Black
4 INAIAFH AL / Slide panel 1 7 JLEHR / Aluminium A1100P t=1.5 D IIN—=TF LAk / Silver = Anodized
7 JLEHR / Aluminium A1100P t=1.5 T5v% - B% / Black * Painted
5 RLCLEH/NRIL / Screwed panel 1 7 ILEHR / Aluminium A1100P t=1.5 S JLIN—=TF )L AL / Silver * Anodized
7 LR / Aluminium A1100P t=1.5 IS99 - BE / Black - Painted
6 BTE R (M4 x 15 F) 16 #* =ffiynr—k
Screw (M4 — 15 Pan head) Steel Trivalent chromate
7 HU{TE R (M3 x 5 EE{+3L M) 4 % —uiLAvE  ZlEIOA—k
Screw (M3 - 5 Slotted raised countersunk) Steel Nickel plated , Black trivalent chromate
[ 3
& g D
5
e
Q‘@ 7

H 754

& &

B (EFEREDO) / Color Type (End of product numberd)

4/ Title

525 / Code /\F)L / Panel JL—L / Freme J—+}— / Corner -
- - - 7B/ Approved
GS < )L7S— / Silver < )LsN— / Silver SA4JL— / Light gray
BS L JLsS— / Silver < )LsN— / Silver 7594 / Black
B X S IUIN— / Silver 5574 / Black 55975 / Black Rk
BB 7594 / Black 7594 / Black 75wv7% / Black

[TAKACHI] #t&itshF BRI Qo RO— LRy R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
& /Checked &[] /Created | E%/Product number RE/Scale
FC8-25-2501 1:25
X L M
feRE/Date  2020/07/14




1R , NfR[X / External View , Internal View

JL—L 148l / Framel side

L —L348 / Frame3 side

AH—HN 11

TJL—L248] / Frame2 side

A-A(1:3)

INARAFH ISR ILE RN T % / Slide panel Max dim. 210

B3h~TiE / Max dim. 204

REIEH/NRILER~TE / Screwed panel Max dim. 204

JL— L4 / Frame4 side

75.4

~T3% / Max dim. 204

#h

=l

INAIAFINRILE T L / Slide panel Max dim. 210

B-B(1:3)

E%h~Ti% / Max dim. 69

38.2

~ti% / Screwed panel Max dim. 204

h

BLILEH/SRILE

by

N

C : 7L —Li KK / Frame cross—section

FwkL—JL / Nut rail

AZAEFyhRE
AMFTATavih RSARF Yk FZ-3 #ANDENEEFT,
Groove for slide nut
Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRRMINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
arvka—JLARYIR
ALUMINIUM CONTROL BOX

o]

752/ Approved

#%[X/Checked

XiI

#X/Created

A1l

RIE /Product number RE/Scale
FC8-25-250 1:3
fERH/Date  2017/07/20 2 /1




4.05
1.2

8.7

18.1

1.65

18.1

19.7

4 13.7
8.2

)

(S2
1.8
<
<t
~
5.7
N
G

(=
14.7

FvkL—JL / Nut rail

2-M3

JL—.Ls1 / Framel

204
,f:'J
N~ — |
<
™~
©
[fp]
7 - "' |
Q,
5
mn/Title
TAKACHI| #RARHINFERTE TIL— L1 @ ‘:l
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame1
752/ Approved & /Checked #1[X]/Created RIE /Product number RIE/Scale
H75.4 - W250 115
XL w1l 3 7
e B /Date 2017/07/20




JL—L2 / Frame2

mn/Title
TAKACHI| #RARHINFERTE SL—1a2 @ ‘:l
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame?2
7K ER/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
H75.4 - W250 115
T i
Xi Al 4/ 7

{ERL B /Date 2017/07/20




JL—.L3 / Frame3

mn/Title
TAKACHI| #RARHINFERTE JL—13 @ ‘:l
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3
7K ER/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
H75.4 - D250 115
T i
Xi Al 5 /7

{ERL B /Date 2017/07/20




JL—.L\4 / Frame4

mn/Title
TAKACHI| #RARHINFERTE SL—In4 @ ‘:l
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Framed
7K ER/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
H75.4 - D250 115
T i
Xi Al 6 / 7

{ERL B /Date 2017/07/20




A#h~Ti% / Max dim. 210

B~k / Max dim. 204

INAAFHINAIL / Slide panel

Bxh~ti% / Max dim. 210

I\ LI E/Panel Frontside

RC1EH/NR)JL / Screwed panel
BTk / Max dim. 204

(g

O

N

J

/\Z:JLFE/Panel Frontside

fREES—HAY

Surface protective film side

REES —HA

Surface protective film side

1.5

1.5

221.9

2215

4-24.2

2219
I\ JLEE/Panel Backside
2215
194
e o)
N
N
N_— o,

/I\FJLEEE /Panel Backside

BRASUIHFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

7 &R/ Approved

iR

& /Checked

XiI

#X/Created

il

fnda/Title Y
L ol
Panel

#13 /Product number RE/Scale
W250 - D250 1:2.5

{YER B /Date 2020/07/14 7 71




